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5 2 St

Re

Bhl MIRGLS SEEE kg/M

HHIISEES

A5052
A=h-—

ftE TER

110

n

"

"
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0.5 1000 2000 H34 P 2.7 - X
0.8 " " " " 4.3 — X
n 1250 2500 /" /" 6.8 - X
1.0 1000 2000 1 1 5.4 - ©)
n 1250 2500 /" /" 8.5 - X
1.2 1000 2000 1 1 6.5 - X
n 1250 2500 /" /" 10.2 - X
1.5 1000 2000 1 1 8.1 - X
n 1250 2500 /" /" 12.7 - X
1.6 1000 2000 1 1 8.7 - X
n 1250 2500 /" /" 13.6 - X
2.0 1000 2000 1 1 10.8 - ©)
n 1250 2500 /" /" 16.9 - X
2.5 " " ] ] 21.2 - X
3 n n ] ] 25.4 — O
3.2 " 1" n " 27.1 - X
3.5 1 1 1 1 29.6 - X
4 " " " " 33.9| HAXEERE mSPV O
5 1 1 1 1 42 .3 1 1 O
6 ] ] " " 50.8 " " O
7/ 1525 3050 | H112 1 - - 1" X
8 1250 2500 1 1 —| BXEERE " O
9 1525 3050 n n — - 1" X
10 1250 2500 1 1 —| UAC), HE® " O
12 1 1 1 1 - 1 1 O
15 ] ] " " — " " O
16 1 1 1 1 - - 1 X
18 " " " " — — " X
20 i i i i —|UAC). BES i O
22 " " 17 17 - - 17 X
25 i i i i —[UAC). B&& " O
28 1525 | 3050 i i - — i X
30 1250 | 2500 i i —|UAC). BES i O
32 1525 | 3050 i i - — i X
35 1250 | 2500 i i = UACJ " O
36 1525 | 3050 i i - — i X
40 1250 | 2500 i i = UACJ " O
45 ] ] n n - n n O
50 1 1 1 1 - 1 1 O
55 ] ] n n - n n O
60 1 1 1 1 - 1 1 O
65 ] ] n n - n n O
70 1 1 1 1 - 1 1 O
75 1525 | 3050 i i - i i X
80 1 1 1 1 - 1 1 X
85 17 17 17 17 - 17 K SPV X
90 1 1 1 1 - 1 1 X
o5 " " n n — n n X
100 n n ] ] — ] MmSPV e
105 " " 7 7 — 7 | N X

X

"




115 17 17 n n n n X
120 " " 17 17 17 17 X
125 1 1 1 1 1 1 X
130 " " n n n n X
135 1 1 1 1 1 1 X
140 " " 17 17 17 17 X
145 " " n n n n X
150 " " n n n n X
160 1 1 1 1 1 1 X
170 " " 17 17 17 17 X
180 1 1 1 1 1 1 X
190 " " n n n n X
200 1 1 1 1 1 1 X
210 " " 17 17 17 17 X
220 - - 1 1 - 1 X
230 — — n n - n X
250 - - 1 1 - 1 X
260 — — n n - n X
290 - - 1 1 - 1 X
300 — — n n - n X
320 - - 1 1 - 1 X
350 — — n n - n X




